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Instructions for Candidates

1. Write your Roll No. on the top 1mmed1ately on recelpt |
of this question paper.

2. Answer any 5 questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindli

but the same medium should be used throughout the

'paper
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(a) Explain the meaning and the steps involved in (i)
~ optimization in levels and (ii) optimization in

differences.

(b) Differentiate between positive and normative

economics. . : (10,5)
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2. (a) What is Production possibilities curve (PPC)?

(b) Exp}ain how comparative advantage leads to

s.pecialization with thie help of an example.

(c) What are strategic games? Explain with an

‘example. . | (3,7,5)
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3. Show graphically the effect of the following on

equilibrium qﬁantity and price.
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(1) increase in input price
(11) increcase in the price of a substitute good,

(1) increase in income (assuming that it is a norma|

good). , (5,5,5)
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4. (a) Briefly explain the thrée steps in buyer’s
optimization problem. What is the decision rule in

equilibrium,.
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(b) Explain how an increase in price affects the total

revenue when price clasticity of demand is
(1) greater than |
(i1) less than I

(iii) equal to 1 | (9,6)
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(a) Derive the Long run market supply curve for a

perfectly competitive market diagramatically.

(b) Differentiate between cconomic profits and

accounting profits. | (10,5)
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(a) Explain how invisible hand efficiently alldcatesl

godds among buyers and sellers. -

(b) Is the perfectly competitive market equilibrium

pareto efficient? Explaiﬁ your answer. | (9,6_)~
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7. (a) What is Coase thcorem? Why does free access to
a common property generates inefficient outcome

explain with an appropriate example? -

~ (b) Why invisible hand fails in efficient allocation of

resources under bublip good? (10,5)

() S v 37 e W gt ww e T
Mqﬁmaﬁmm% w:mgaﬁaam

IR LE R

() W%ﬁ%(@m%mmﬁﬁaﬁm
maﬁﬁmﬁrm%? |

8.. Explaln price ceiling and price floor? What would be

impact of government intervention through price

the
ceiling and price floor in an economy? Explain with
" an appropriate diagram? - (5,10)
pP.T.O.
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